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=™ 691,383 689,547 1,836
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OYala S A Ald RX2eEE 7Y
300,000 =120H& 3,600
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O=RIALZI| 2L CTV XtZ
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A SRS
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OFAr2te] & 28 7¢
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OBty B4z 25,000 x87 H*23] 4,350
11 HAIAHIXIAZ 3,120 3,120 0
OO0IZEH AHAIE SHAIAH Batz
120,000 *26H 3,120
14 J|Et2 &2 250 244 6
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A D3¢
M #ZYRAZH(2ZE)(OIEHIIE)
chol: ol (19 @)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
101 e124d| 65,786 58,960 6,826
01 2= 65,786 58,960 6,826
On=H A2l 222 65,786
—2ey 65,786
6= 12,3213 x5 +30AI 2H+ 1200 2 22,178
= 11, 1303 x4 2 *30A1 2t 1200 & 16,028
8= 9,923 x4 +30A[ 2t 120 14,389
= 9, 160& 4 x30AI 2+ 12J0 2 13,191
=&l 114,900 108,552 6,348
Jl2&HI(10=9) 114,180 107,112 7,068
201 L= 66,120 61,800 4,320
01 AtS2t2ltl 48,600 49,380 AT80
OgBt==H| 30,000
—EES MA(S9 24 HUHE S)
100,000 * 152 1,500
—ARET AREE 7Y
20,0003 +18F 1201 & 4,320
—&X=SAEX 7Y
25,0002 * 18+ A+ 18 1201 2 +80% 4,320
—oIial 4| 2aly|
35,0002 *3CH= 1200 & 1,260
—pE AR 52 T2
100,000 * 1204 1,200
—CIs AFR2101 |XId|
200,000& x1CH+ 12042 2,400
—HEMA Q Do €1 72
150,000 +8LH*62] 7,200
—&EA =X 22l 500,000& #1228 6,000
—R013dl 84 150,000 * 1204 1,800
Oo2g+d 9,000
—2 - =4 9,000
- 2 60,0002 x1Z+110 6,600
o =X(2Y) 60,0008 x224x202! 2,400
OZg#m 22%x 22|
8,000& » 18 »60& 8,640
Odfl===& 221 S
8,000& 28 *60 960
02 S3=24gl 17,520 12,420 5,100
O332= % HAl 12,720
—R8 €523 150,000& 12043 1,800
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690,000 120 & 8,280
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. dZ23H(2=2H) (OIEHIIE
Chel: J1=2 &l EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
— NS gl2 AYAE HSI|SE
A =22 1,000,000& %12 1,000
OsEXE 288 4,800
-3 s 800,000 *1CH 800
-8 s8X 950,000 1CH 950
—A4" 3= 1,080,000 «2CH 2,100
-S4t 950,000 1CH 950
202 04| 48,060 45,312 2,748
01 2L AL 7,260 6,912 348
Ol Hi% 2 SH SAHAE 048]
20,0003 *21H+3 1,260
OIESAANE 8 22 £2F0i|
80,0002 18152 1,200
Oge=d 22| 2830
100,000 x2& 2« 121 & 4,800
02 A0 40,800 38,400 2,400
OBS#E ALEX FAHOIH|
200,000 «17E 1200 & 40,800
II2BH(SRA2ZZA) 720 1,440 AT
202 04l 720 1,440 AT20
01 SLHoIH 720 1,440 AT20
O3R3 22X 2U £F0d]
20,0002 *3E 4 & 64 = x50k 720




